0 (2.39) K Y1 =0

d p.
= |gP2 2.24
V> = (a") (2.24)
b=y (2.46)
kZl k22
(2.5) (2.6)
ds dq d?q
dt2 =k21d—t2+k22T22— fl_qZ (2.47)
d 2 ! d ! !
dtclz +C1%+Coq2 =G fy (2.48)
C = Kn gt (2.49)
k22 ’ ° k22 )
(2.8) (2.48)
q fy
(2.48)  (2.3) (2.50)
d 2 ’ d ! ’
dt(lz +G % +Co(1+ Kky3)d, = Cokyp0y (2.50)
(2.50) (2.49)
¢ (rky) =K gk, = (2.51)
k22 k22
k, 1 1/Ky, ~0
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Co(L+Ky3) ~ Cokyg

(2.8)

(2.50)

{Clr =G
Co(L+ky3) = Cokys = €,

(2.49)  (2.53)

(2.48)

d
dt

(2.57)  (2.10)

C11+C1z, Ci3, Koy Ky

Y,
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(2.5)

C11:C12,Cy3

(2.6)

(2.52)

(2.53)

(2.54)

(2.55)

(2.56)

(2.57)





